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Que fait le "programme" ci-dessous ?

let test n =
(n )= 100) kk, (n < 1000) ;;

let sum-digits n =
let (a, b, c) =

(n / 700, (n,/10)
i."*ii

a + b + c ;;

let product_digits n =
lêt (a, b, c) =

(n / tOO, (n/tO)
i,

a * b * c i;

lst abs n =

ifn>Otherr
n

else
-a t;

mod 10, n mod 10)

nod 10, n mod 10)

let rec loop n =
ietn=absnin

if sum-digits n = product-d.igits n
t1:en

n
el-se

loop (n+1) ;;

fonction test (entier n) : bool-een
debut

retourne ( (n >= 100) et (n < 1OO0) )
fin

fonction sum_digits (entier n) : entier
variables

entier a, b, c
debut

a +- n di_v 100
b +- (n 4iv 10) mod 10
c+-nmod10
retourne(a+61.;

fin

fonction product_digits (entier n) : entier
variables

entier a, b, c
debut

a +- n div 100
b <- (n div 10) mod 10
c+-nmod10
retourne(a*6*.,

fin

fonction abs (entier n) : entier
debut

sin>0alors
retourne n

sinon
retourne -n

fin si
fin

fonction loop (entier n) : entier
debut

n ê- abs (n)
si sum_digits(n) = product_digits(n) alors

retourne n
sinon

retourne loop(n+1)
fin si

fin
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